



2024 Stationery Order Form

- This list includes the mandatory stationery supplies for your child, carefully selected by school staff for the 2024 school year.
- WorknLearn is the school's chosen and preferred stationery supplier.
- By ordering with WorknLearn you will receive competitive pricing and a portion of the purchase is paid back directly to the school to support the school community.
- It is encouraged that you select the whole Stationery Pack, however you can select just the items that you do not already have.
- All book packs will be delivered to a Sunshine Coast address (no PO Boxes). There is a single delivery fee of \$10.95 per family (if all book packs are ordered at the same time).

Steps for Online Ordering:

- 1. Go to worknlearn.com.au and choose Suncoast from the 'Schools' menu or click on the Suncoast Christian College icon. Alternatively click here.
- 2. Use SC876 as your school code to view the book packs.
- 3. Select the book pack and modify quantities of individual items as required.
- 4. Repeat step 3 for all children.
- 5. Select Checkout and follow the prompts.

NOTE ORDERS PLACED BEFORE DECEMBER 15TH QUALIFY FOR \$5 DELIVERY DISCOUNT

It is recommended that all orders are placed by January 4th to be ready for the new school year.





Year 11 Student Booklist 2024

Code	Description	Qty	Price	Total
	General Requirements			
ST13060N2-1	Staedtler Pencil HB	2	\$0.36	\$0.72
ST13060N0-1	Staedtler Pencil 2B	2	\$0.39	\$0.78
AC182103-1	Pen Ballpoint Cap Type Blue Medium	2	\$0.31	\$0.62
AC182102-1	Pen Ballpoint Cap Type Red Medium	2	\$0.31	\$0.62
AC182101-1	Pen Ballpoint Cap Type Black Medium	2	\$0.31	\$0.62
NGNP1001	Office Pad A4 Bank 100 Leaf Ruled	1	\$1.85	\$1.85
GNS53931	Display Book A4 20pg Royal Blue	2	\$1.85	\$3.70
ACC2015000	Document Wallet Polywally A4 Clear Translucent	2	\$1.10	\$2.20
ST526C20	Staedtler Large Eraser with Sleeve	1	\$0.35	\$0.35
MICPRM007	Sharpener - Metal single hole	1	\$0.65	\$0.65
ST562300PB	Staedtler Ruler 300mm clear	1	\$0.55	\$0.55
USB16GB	USB Flash Drive 16 GB	1	\$7.80	\$7.80
EARBLK	Earphones	1	\$5.95	\$5.95
	Biology			
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
	Business			
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
	Business Studies			
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
	Chemistry			
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
	Dance			
AO140759	Exercise Book 225*175 8mm 64 pg	1	\$0.75	\$0.75
GNS53933	Display Book A4 20pg Green	1	\$1.85	\$1.85
	Black Full Length Dance/Exercise Pants without patterns (females only)			
	Flesh coloured leotard (females only)			
	Flesh coloured (matte) convertible dance stockings (females only)			





Year 11 Student Booklist 2024 cont.

Code	Description	Qty	Price	Total
	Design			
ACC56067	SPIRAX 533 SKETCH BOOK A3 S/O 297X420MM	1	\$3.35	\$3.35
ST13060N2-1	Staedtler Pencil HB	2	\$0.36	\$0.72
ACC120001-1	Marker Fineline 200 0.4mm	1	\$2.60	\$2.60
AC107101	Artline Supreme Permanent Marker Black 1mm	1	\$1.20	\$1.20
	Drama			
	Nil Required			
	Food And Nutrition			
ACC5024001	Binder A4 4D Ring 25mm Blue	1	\$5.55	\$5.55
ACC3024001 AO141417	Loose Leaf refill A4 7mm Pk100	1	\$3.33	\$3.40
ACC25150	MARBIG SHEET PROTECTORS LIGHTWEIGHT A4 100BX	1	\$5.90	\$5.40
ACC35020	Marbig A4 10 tab PP section divider	1	\$2.15	\$2.15
	Consul Fuelish			
4.04.40750	General English	1	64.25	64.25
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
ACC105174	Whiteboard Markers Artline Supreme pk4	1	\$4.81	\$4.81
GNS53931	Display Book A4 20pg Blue	1	\$1.85	\$1.85
	Essential English			
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
ACC105174	Whiteboard Markers Artline Supreme pk4	1	\$4.81	\$4.81
GNS53931	Display Book A4 20pg Blue	1	\$1.85	\$1.85
	Literature			
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
ACC105174	Whiteboard Markers Artline Supreme pk4	1	\$4.81	\$4.81
GNS53931	Display Book A4 20pg Blue	1	\$1.85	\$1.85
	Film, Television and New Media			
AO140750	Exercise Book A4 8mm 96 pg	2	\$1.25	\$2.50
USB16GB	USB Flash Drive 16 GB	1	\$7.80	\$7.80
ACC44083	Memory Card microSDHC 32Gb Class 10 with SD Adapter	1	\$14.98	\$14.98
	Hospitality Practices			
	Nil Required			
	Industrial Technology Skills			
AO142460	Olympic Sketch Books - Spiral Bound SP34 A4 40 page	1	\$2.20	\$2.20
ST13060N2-1	Staedtler Pencil HB	4	\$0.36	\$1.44
ST526C20	Staedtler Large Eraser with Sleeve	1	\$0.35	\$0.35





Year 11 Student Booklist 2024 cont..

Code	Description	Qty	Price	Total
	Information and Communication Technology			
	Nil Required			
	Legal Studies			
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
	Modern History			
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
	Essential Mathematics			
ABFX82AUPlus	Casio FX-82AU Plus II Calculator	1	\$44.95	\$44.95
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
				_
	General Mathematics			
CASFX100AU	Calculator Casio FX100AU Plus	1	\$58.95	\$58.95
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
	Mathematical Methods			
CASFXCG50AU	Casio FX-CG50AU Calculator	1	\$289.00	\$289.00
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
	Specialist Mathematics			
CASFXCG50AU	Casio FX-CG50AU Calculator	1	\$289.00	\$289.00
A0140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
	Music			
GNS53937	Display Book A4 20pg Yellow	1	\$1.65	\$1.65
	Cert III Music			
GNS53931	Display Book A4 20pg Royal Blue	1	\$1.85	\$1.85
USB16GB	USB Flash Drive 16 GB	1	\$7.80	\$7.80
	Physical Education			
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
ACC5024001	Binder A4 4D Ring 25mm Blue	1	\$5.55	\$5.55
	Physics			
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25





Year 11 Student Booklist 2024 cont..

Code	Description	Qty	Price	Total
	Psychology			
ACC5024001	Binder A4 4D Ring 25mm Blue	1	\$5.55	\$5.55
AO141417	Loose Leaf refill A4 7mm Pk100	1	\$3.40	\$3.40
ACC25150	MARBIG SHEET PROTECTORS LIGHTWEIGHT A4 100BX	1	\$5.90	\$5.90
ACC35020	Marbig A4 10 tab PP section divider	1	\$2.15	\$2.15
GNS79722	ESSELTE SYSTEM CARDS 127X76MM (5X3) WHITE PK100	2	\$3.70	\$7.40
	Sports and Recreation			
AO140750	Exercise Book A4 8mm 96 pg	1	\$1.25	\$1.25
ACC5024001	Binder A4 4D Ring 25mm Blue	1	\$5.55	\$5.55
	Visual Art			
100851398	A4 Visual Art Diary 120pg	1	\$4.80	\$4.80
MMBMHS0044	Brush Set with Easel Wallet Signature 17pc	1	\$36.95	\$36.95
ST110-2B	Pencil 2B	2	\$0.69	\$1.38
ST110-4B	Pencil 4B	2	\$0.69	\$1.38
ST110-6B	Pencil 6B	2	\$0.69	\$1.38
ACC120001-1	Artline 200 Black	1	\$2.60	\$2.60
ST920135	Staedtler® 35g glue stick	2	\$1.90	\$3.80
PP14433	Westcott Scissors 152mm	1	\$1.77	\$1.77